Energieerhaltung:

Energieerhaltung:
$$\frac{1}{2} \cdot m_{1} \cdot v_{1}^{2} + \frac{1}{2} \cdot m_{2} \cdot v_{2}^{2} = \frac{1}{2} \cdot m_{1} \cdot u_{1}^{2} + \frac{1}{2} \cdot m_{2} \cdot u_{2}^{2} \qquad \qquad | \cdot 2$$

$$m_{1} \cdot v_{1}^{2} + m_{2} \cdot v_{2}^{2} = m_{1} \cdot u_{1}^{2} + m_{2} \cdot u_{2}^{2} \qquad \qquad | -m_{2} \cdot v_{2}^{2} - m_{1} \cdot u_{1}^{2}$$

$$m_{1} \cdot v_{1}^{2} - m_{1} \cdot u_{1}^{2} = m_{2} \cdot u_{2}^{2} - m_{2} \cdot v_{2}^{2} \qquad \qquad | faktorisieren$$

$$m_{1} \cdot (v_{1}^{2} - u_{1}^{2}) = m_{2} \cdot (u_{2}^{2} - v_{2}^{2}) \qquad \qquad | 3. \text{ binomische Formel }$$

$$m_{1} \cdot (v_{1} + u_{1}) \cdot (v_{1} - u_{1}) = m_{2} \cdot (u_{2} + v_{2}) \cdot (u_{2} - v_{2}) \qquad \qquad (1)$$

$$Impulserhaltung:$$

$$m_{1} \cdot v_{1} + m_{2} \cdot v_{2} = m_{1} \cdot u_{1} + m_{2} \cdot u_{2} \qquad \qquad | -m_{2} \cdot v_{2} - m_{1} \cdot u_{1}$$

$$m_{1} \cdot v_{1} - m_{1} \cdot u_{1} = m_{2} \cdot u_{2} - m_{2} \cdot v_{2} \qquad \qquad | faktorisieren$$

$$m_{1} \cdot (v_{1} - u_{1}) = m_{2} \cdot (u_{2} - v_{2}) \qquad \qquad | faktorisieren$$

$$m_{1} \cdot (v_{1} - u_{1}) = m_{2} \cdot (u_{2} - v_{2}) \qquad \qquad | faktorisieren$$

$$m_{1} \cdot (v_{1} - u_{1}) = m_{2} \cdot (u_{2} - v_{2}) \qquad \qquad | faktorisieren$$

$$m_{1} \cdot (v_{1} - u_{1}) = m_{2} \cdot (u_{2} - v_{2}) \qquad \qquad | faktorisieren$$